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(Z4)ise are il zuch Hhat P(zi=1)=7
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, C) Xn —_ So + . . . + Sn’)'d not MMKOV

We areed 7o Show Thot Foe Some 0 and 7o ... %,
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Note thot Lam PV =o0

n — N0

1) P, (Al =P( it chooses A on th nsi st tral)
Poss (B)= P 1t chooses B sn P nti st trral]
st (Al= | — P, (B)
Th andy way B can % choosen 75 3/ octopus
7S an stete | just defoe th npy st el
S Topi (B)=P(B A fXa=12) = P(BIXa=1)-P(
Xo=1) = Uy "
S P (A) = 0= Ya (% (%) % (%))

NOfc e A, = l°/1-2 ~ . 433

Aa = --l/q = —-_25

4/‘3 ~ ., 30

Part 4i7) 95 on e rex+ page .
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>> A=[1/2,1/2,0;1/2,1/12,5/12;0,0,1] MATH L AB

A =
0.5000 0.5000 0
0.5000 0.0833 0.4167
0 0 1.0000
>> A~2
ans =
0.5000 0.2917 0.2083
0.2917 0.2569 0.4514
0 0 1.0000
>> eig(A)

ans = ‘o
0.8333_ = Aa

~0.2500 = = /4
1.0000 = |
>> B=(1,1,1:;0.8333,-0.2500,1; (0.8333)*2, (-0.2500)"2,1)
B =
1.0000 1.0000 1.0000
0.8333 -0.2500 1.0000
0.6944 0.0625 1.0000
>> b=[1,1/2,1/2]"
b =
1.0000
0.5000

. m T
0.5000 . n € coaeS /m
>> inv(B)*Db [t  discieprny

ans = ; o J.333-93-- .
0.6922 ﬁu" thot /o//.'l. e
0.3077 s/;auw d& ,'-c@”-/-,‘c Zeroe

0.0001 = ©.cCO>272 1@ c
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